Exploded View Spare Parts

WWW.[:l'IEiﬂSHWSpHFES.BﬂI‘I’I.HU

PBJJ-01
PBJJ-02
PBJJ-03
PBJJ-04
PBJJ-05
PBJJ-06
PBJJ-07
PBJJ-08
PBJJ-09
PBJJ-10
PBJJ-11
PBJJ-12
PBJJ-13
PBJJ-14
PBJJ-15
PBJJ-16
PBJJ-17
PBJJ-18
PBJJ-19
PBJJ-20
PBJJ-21
PBJJ-22
PBJJ-24
PBJJ-25
PBJJ-26
PBJJ-27
PBJJ-28
PBJJ-29
PBJJ-30

Perla Barb 65cc 2 Stroke Tiller Snap Ring

Perla Barb 65cc 2 Stroke Tiller drum clutch

Perla Barb 65cc 2 Stroke Tiller engine support
Perla Barb 65cc 2 Stroke Tiller dashboard

Perla Barb 65cc 2 Stroke Tiller right double blade assy
Perla Barb 65cc 2 Stroke Tiller right single blade
Perla Barb 65cc 2 Stroke Tiller blade pin

Perla Barb 65cc 2 Stroke Tiller pin--Fixed pin
Perla Barb 65cc 2 Stroke Tiller gear box

Perla Barb 65cc 2 Stroke Tiller screw

Perla Barb 65cc 2 Stroke Tiller screw

Perla Barb 65cc 2 Stroke Tiller left double blade assy
Perla Barb 65cc 2 Stroke Tiller left single blade
Perla Barb 65cc 2 Stroke Tiller screw

Perla Barb 65cc 2 Stroke Tiller rear wheel support
Perla Barb 65cc 2 Stroke Tiller screw

Perla Barb 65cc 2 Stroke Tiller R pin

Perla Barb 65cc 2 Stroke Tiller resistance pin
Perla Barb 65cc 2 Stroke Tiller rear wheel frame
Perla Barb 65cc 2 Stroke Tiller wheel

Perla Barb 65cc 2 Stroke Tiller washer

Perla Barb 65cc 2 Stroke Tiller screw

Perla Barb 65cc 2 Stroke Tiller rubber handle
Perla Barb 65cc 2 Stroke Tiller screw

Perla Barb 65cc 2 Stroke Tiller switch

Perla Barb 65cc 2 Stroke Tiller right handle

Perla Barb 65cc 2 Stroke Tiller Triangle knob
Perla Barb 65cc 2 Stroke Tiller left handle

Perla Barb 65cc 2 Stroke Tiller middle handle

— |

PBJJ-31  PerlaBarb 65cc 2 Stroke Tiller screw
PBJJ-32  Perla Barb 65cc 2 Stroke Tiller supporter
PBJJ-33  Perla Barb 65cc 2 Stroke Tiller screw

THIS USES ENGINE JPETSES
CLICK HERE FOR ENGINE PARTS

T\er




Exploded View Spare Parts

WWW.I.':hHiI'ISEWS[JHFES.[:[IH'I.HU

~ PBJJ Engine Parts

JPETSES

.- e e
Please double check parts as some models have slightly different parts
JPETS65-1 Screw M5*25 p JPETS65-41  Boot Intake
JPETS65-2 Fuel Tank Bracket JPETS65-42  Gasket Boot Intake
JPETS65-4 Screw M8-13*4 JPETS65-43  Cylinder
JPETS65-5 Pulley Starter JPETS65-44  Cylinder R Male Tab
JPETS65-6 Small Oil Seal $p12*p22*7 JPETS65-45  Cylinder L Male Tab
JPETS65-8 Gasket Crankcase JPETS65-46  Screw M4*8
JPETS65-9 Bearing 6202 JPETS65-47  Cylinder Gasket
JPETS65-12  Flywheel Key JPETS65-48  Piston Ring
JPETS65-15  Big Oil Seal $15*$30*7 JPETS65-49  Muffler Gasket for Post Hole Digger & Rotary Hoe
JPETS65-16  Flywheel JPETS65-50  Muffler for Post Hole Digger & Rotary Hoe
JPETS65-17  Screw M8*1 JPETS65-51  Screw M6*55
JPETS65-19  Clutch JPETS65-52  Screw M5*14
JPETS65-21  Screw M8*24 JPETS65-53  Sparkplug
JPETS65-23  Screw M5*20 JPETS65-54  Decorative Cover
JPETS65-24  Wire Switch JPETS65-55  Cylinder Cover
JPETS65-26  Gasket 10*¢$5.5*1Imm JPETS65-56  Screw
JPETS65-27  Piston Assy JPETS65-57  Fuel Tank for Post Hole Digger & Rotary Hoe
JPETS65-28  Needle Bearing K11*15*12.5 JPETS65-59  Screw M5*%20

JPETS65-29  Ring Snap 18*15*11*2.8
JPETS65-30  Air Filter Knob
JPETS65-31  Air Filter Cover
JPETS65-32  Filter Fabrics PBGG_SKIT Service Kit
JPETS65-33  Filter Net

JPETS65-34  Screw M5*50
JPETS65-35  Screw M5*55
JPETS65-36  Anti-Blow Net
JPETS65-37  Air Filter Internal Cover
JPETS65-38  Carburetor

JPETS65-39  Carburetor Gasket
JPETS65-40  Drivepipe Boot Intake



